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=X (70/';7) The cash records of Haig Company show the following.

For July:

1. The June 30 bank reconciliation indicated that deposits in transit total $750. During
July the general ledger account Cash shows deposits of $16,900, but the bank state-
ment indicates that only $15,600 in deposits were received during the month.

2. The June 30 bank reconciliation also reported outstanding checks of $940. During
the month of July, Haig Company books show that $17,500 of checks were issued,
'yet the bank statement showed that $16,400 of checks cleared the bank in July.

For September:
3. In September deposits per bank statement totaled $25,900, deposits per books were
$26,400, and deposits in transit at September 30 were $2,200.
4. In September cash disbursements per books were $23,700, checks clearing the bank
were $24,000, and outstanding checks at September 30 were $2,100.
There were no bank debit or credit memoranda, and no errors were made by either the
bank or Haig Company.

Instructions

Answer the following questions.

(a) In situation 1, what were the deposits in transit at July 31?2

(b) In situation 2, what were the outstanding checks at July 31?
{c) In situation 3, what were the deposits in transit at August 31?
(d) In situation 4, what were the outstanding checks at August 31?

=_ b - . , . |
N ( 77) '”[ he president of Space Enterprises asks if you could indicate the impact certain
transactions have on the following ratios.

Average
Current Receivables Collection
Ratio Turnover Period
Tramsaction (2:1) (10X) (36.5 days)

. Received $3,000 on cash sale.
The cost of the goods seld was
$1,8090.

2. Recorded bad debts expense of $500
using allowance method.

et

3. Wrote off a $100 account receivable
as uncollectible (Uses allowance i
methodg.)

4. Reccrded $2,500 sales on account.

The cost of the goods sold was
$1,500.

Inmstructions

Complete thf‘f table, indicating whether each transaction will increase (I), decrease (D),
or have no =“==> (NE) on t»= specific ratics provided for Space Enterprises.
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